Problem

Simplify: x3 - x?

Incorrect Work/Answer

x8_x2

_ 416



Problem

Simplify: (?»xz)4

Incorrect Work/Answer
4
(3x%)

= 12x8




Problem

10x’
5x%

Simplify:

Incorrect Work/Answer
10x’
5x%

= 5x3




Problem

Simplify: x* - y*

Incorrect Work/Answer

x4-_y4-

= xy8



Problem

Simplify: —2°

Incorrect Work/Answer
—26
=-2--2--2--2--2:-=-2
= 64




Problem

Simplify: 573

Incorrect Work/Answer
5—3
= —125




Problem

Simplify: (xy1°)3

Incorrect Work/Answer

(xy10)°

= xy30




Problem

Simplify: 374

Incorrect Work/Answer

3—4-

3

=.0003



Problem

Simplify: 10p~>

Incorrect Work/Answer

1

10p>



-

Problem

7b5

Write in standard notation: ——
a’b

Incorrect Work/Answer

a’b*




Problem

Add: (2.5 x 10%) + (1.2 x 10?)

Incorrect Work/Answer

(2.5 x10%) + (1.2 x 10?)
= 3.7 x 10°



Problem

Write in scientific notation: 7.2 x 103

Incorrect Work/Answer

7.2 x 103
= 72000



Problem

6x107

Divide: Tox10-2

Incorrect Work/Answer

6 x 107
1.5 X 102

=4 x 10°




Problem

Write in standard notation: 6 X 102

Incorrect Work/Answer

6 X 102
=.006




